-
o

e

Ratio

D 0,18+ eeeei e R L S RREts
> r . .
2 0,16 -+--ee i Beeesnes e
o 3 : :
0.14F - ---eeemeieeeeeees R £ EETER
0.12f-+--ereesivneeranenas P | EERTRRRRS
0. eeeeioeeeeee R TR
0.08F -+ P FERE TR CRRERITRRS
0.06f-+--+eeirrseersness ﬂ ---------------------
0.04F -+ P Pelep
0,02 -+---eeesierseeeeenne T SEREE-TIRPELTRPS
J—-\G |||||?|. L | R R
U SvRR 1 1 11 11111 S

=0.05
[
§.045
2
$0.04
[S]
$.035
o
0.03
0.025
0.02
0.015
0.0
0.005

Ratio

Efficiency vs P,

0.2

107 1 10

. Gedf’

MKFE_TTorngmar

<4

mkFit_TTNEWnoMS-genMatch-CUT2
mkFit_TToriginal-106
mkFit TTNEWMS-genMatch-CUT2

Vs

[y

o
©
a

W[TTTT T
| —
N n
|
=
o
[y

Efficiency vs ¢

0.05

o ¢ ¢
o
=

IIIIIAIIII‘IIIII ___.____l_ > ._...l...

T T T T U . R A S

TP @




	Contents
	Page 1


